50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 15CS82
Time: 3 hrs.
~  Note: Answer any FIVE full questions, ch
1 a. How does the Hadoop MapRedu e.Data flow work for a gvorf count program? Give an
example. & 5 (08 Marks)
b. Briefly explain HDFS Name , Snapshots, Checkpoint and
Backups. (08 Marks)
2 a. What do you understandb ? in i onents with a neat diagram. (10 Marks)
b. Bring out the congept: ith an example. (06 Marks)
Mod
3 a. Explain Apaéh‘g Squoop Import and Export-method with neat diagrams. (10 Marks)
b. Explaing W neat diagram, the Apa ch% Oozie work flow for Hadoop architecture.
: ¥ (06 Marks)
A, 4
4 a. How do you run Map Reduce @nf Message Pass face (MPI) %ﬁ YARN architecture?
Discuss. : " ' , 5 (10 Marks)
b. What do you understa ARN Distributed ? (06 Marks)
5 a. Write any four iness Intelligence Apxpl' (08 Marks)
b. Explain the st@?se ema design of (06 Marks)
c. Whatis Confusten Matrix? (02 Marks)
A>Y OrR
6 a neat diagram. , (08 Marks)
he term Data"Visualization? How is it important in Big data
(05 Marks)
(03 Marks)
7 € three criteria for choosing a splitting variable.

b (04 Marks)
he advantage§ and disadvantages of Regression Model. (04 Marks)
Create a decision tree for‘t;he following data set.

L
£
o
=
7
o
3
(¢}

Age Credit | Loan Approved
Young 3 Fair No
Young | False Good No
Young Good Yes
Young%ﬁﬁrue Yes | Fair Yes
Youpg | False | No | Fair No

“%@’ 1 of2




‘; 15CS82
Age Job | House | Credit
[ Middle | False | No [ Fair
Middle | False | No | Good
Middle | True | Yes | Good
Middle | False | Yes | Excellent
Middle | False | Yes | Excellent
= Old False | Yes | Excellent
Old False | Yes | Good .
Old True | No Goo »
Old True
Old False
Then solve the following prob m U g the model
Age | Job Loan Approvedw
Young | False i P
,% (08 Marks)
OR
8 a. Explainthe desng riciples of an Artificial Neural Network. (08 Marks)

b. How does the

i Algorithm work? Ache same for the following example.

&

\ of Item-IDs
I], IZ, 15
I, 14

I, I5
Taoo | 11, I, Is
Tsoo | 11, I3
Teoo | 12, I3 »Q
Tro0 | It, Is o '
Tsoo | 11, I2, ¢
Togo | Iy, Iopl3
Assume the sup count = (08 Marks)
% %ﬁule-S
9 a. What is Naive Bayes Techniqug? Eﬁam its model%' (05 Marks)
b. What i upport Vector M ? Explain its (08 Marks)
c. Men@ e 3-step proce S&ext Mining. (03 Marks)
N 4
10 a. “Explain briefly the ifferent types mining. (06 Marks)
ompute the rank, es for the Nodgs for the following network shown in Fig.Q10(b),
which is the Hig| Ive the same with eight iterations.

ranked node.

Fig.Q10(b)

% %k k k k
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(10 Marks)




